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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=1.0  b=1.0  b/a=1.0  
c=1.0  b=1.0  b/c=1.0  

ma,r,R+=0.98  mc,r,G−=−0.98  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−2a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=0.66  b=1.0  b/a=1.51  
c=0.66  b=1.0  b/c=1.51  

ma,r,R+=1.47  mc,r,G−=−1.47  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−3a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=0.7  b=1.0  b/a=1.42  
c=0.7  b=1.0  b/c=1.42  

ma,r,R+=1.39  mc,r,G−=−1.39  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−4a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=0.75  b=1.0  b/a=1.33  
c=0.75  b=1.0  b/c=1.33  

ma,r,R+=1.3  mc,r,G−=−1.3  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−5a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=1.33  b=1.0  b/a=0.75  
c=1.33  b=1.0  b/c=0.75  

ma,r,R+=0.74  mc,r,G−=−0.74  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−6a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=1.41  b=1.0  b/a=0.7  
c=1.41  b=1.0  b/c=0.7  

ma,r,R+=0.7  mc,r,G−=−0.7  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−7a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=0.84  b=1.0  b/a=1.19  
c=0.84  b=1.0  b/c=1.19  

ma,r,R+=1.16  mc,r,G−=−1.16  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W

egn51−8a
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xr = log[L/Lu]xu=

Fabc,r(xr )=relative (r) unbunte Rezeptorerregung
Fabc(xr )=bβ   e

xr /a

exr /a + e−xr /a + b β − e−xr /c

exr /c + e−xr /c

Fa,r(xr ) = 2     exr /a

exr /a + e−xr /aFc,r(xr ) = 2      e−xr /c

exr /c + e−xr /c

Fa,r(xr )

Fc,r(xr )

Fac,r(xr ) = (Fa,r(xr ) + Fc,r(xr ) ) /2

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, Beispiele

WN

a=1.27  b=1.0  b/a=0.78  
c=1.27  b=1.0  b/c=0.78  

ma,r,R+=0.78  mc,r,G−=−0.78  mac,r,Y+=0.0  

Bereich
Büroleucht-
dichte

N W


